Set No. : 1 Question Booklet NoO. .........cccooeeveveecnnnn.

RET/23 664 | Urology

Roll No.

(To be filled up by the candidate by blue/black ball-point pen)

Roll No. (Write the digits in WOIdS) ............ccociiiiiiiiiiiiie e s
Serial No. 0f OIMER ADSWEE SHEEL ......ooo oo e e e e e e e e e e ee et e ee e s

Centre Code No.

Day and DAte ..........oooooiiiiiiieeeceeeriiies et et e e nr e e e naeas

(Signature of Invigilator)

10.

11.

12.
13.

INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

Within 30 minutes of the issue of the Question Booklet, Please ensure that you have got the correct
booklet and it contains all the pages in correct sequence and no page/question is missing. In case of
faulty Question Booklet, bring it to the notice of the Superintendent/Invigilators immediately to
obtain a fresh Question Booklet.

A separate Answer Sheet [OMR] is given. It should not be folded or mutilated. A second Answer
Sheet shall not be provided.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided
above.

On the front page of the Answer Sheet, write your Roll Number in the space provided at the top
(using blue/black ball-point pen), and by darkening the circles at the bottom. Also, wherever
applicable, write the Question Booklet Number, Centre Code and the Set Number at appropriate
places.

No overwriting is allowed in the entries of Roll No., Question Booklet No., Centre Code and Set No.
(if any) on OMR Answer sheet, and Roll No. and OMR Answer Sheet No. on the Question Booklet.
Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be
considered as unfair means.

This Question Booklet contains 100 multiple choice questions (MCQs). For each MCQ, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the
corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the first
page of the Answer Sheet.

For each question, darken only one circle on the Answer Sheet. If you darken more than one circle or
darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the blank in the corresponding row (such question will be awarded zero marks).

For rough work, use the inner back pages of the title cover and the blank page at the end of this
Booklet.

Submit both OMR Answer Sheet and Question Booklet at the end of the Test to the Invigilator
before leaving the examination hall.

You are not permitted to leave the Examination Hall until the end of the Test.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment as
the University may determine and impose on him/her.

[ S i R & aifwmr oTaRor-yee X RA & 8 ] [ Total No. of Printed Pages : 32



For Rough Work/X% &[& % foe




664/Urology
Research Entrance Test - 2023

No. of Questions : 100
gt @ e 100

Time : 3 Hours | [ Full Marks : 400
7T : 3 g2 | [ g% : 400
Note : (i) This Question Booklet contains 100 Objective Questions (MCQs), of which

(i)

50 Objective Questions are based on components of Research Methodology

and 50 Objective Questions are based on concerned subject.

54 a-gRa ¥ g 100 TS 9 (WodloRo) B fad 50 a&jfe us|
oy A & dEedl W THNG § AR 50 aRgS Yo defe favg o & W
ameniRa

Attempt as many Questions as you can. Each Question carries 4 (Four)

marks. Zero mark will be awarded for each unattempted question. There will

be no negative marking for wrong answer.

I Tl B BA B BN TACT B NI T FX bl Tdd 9 4 (IR) Sini
H B YAH ARG U B Aih LA BN TG I & [ FOTew S
TEl fea s

(i11) If more than one alternative answers of MCQs seem to approximate the

correct answer, choose the closest one.

I JERIS T D Th G A IHUs IO el IAX & be Waid e, dl
fFepeam @él I 2|
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1. The marks of 100 students of a class revealed that about 80 students scored
below 20 marks, 10 students scored between 20 to 80 and remaining scored
between 80 and 100 marks. Which of the following statements is correct for such
data ?

Th H& & 100 BB & bl | ol <Iell {6 AT 80 BB 4 20 § HH b W<
fR, 10 & 7 20 & 80 & = % A AU R 99 T 80 | 100 3% & o=
3% e fhu A oifeet & forw frfoRed & & BT w0 @Ef R ?
(1) Mode of the data will be 30
HTHS! N qgaH 30 B
(2) Skewness of the data will be negative
(3) Kurtosis of the data will be equal to 3
H(HS! F FHaal 3 F T BT
4) Skewness of the data will be positive

SHST HI fABOT gH® el

2. The vertical axis in a graph is known as :
I § FeAteR T8 P ST A ©

(1) Reference Line (2) Abscissa
6 T afeqan

(3) Ordinate (4) Double ordinate
aiffese s Sfffere

3. Find out the median of the given data set : 11, 12, 14, 16, 16, 10, 18, 19, 9, 20
feU T SfheT W= Wl A & &} c 11, 12, 14, 16, 16, 10, 18, 19,9, 20
(1) 15 2) 16 3) 13 4 17

4. The digital repository of theses and dissertations submitted to universities of
India is known as :

A o fagaieamdl § Fd Mg gl T g el & {Sited W & S S
g

(1) Shodhganga (2) Shodhsindhu
SMERTT IR

(3) Shodhgangotri (4) Vidwan
QeI EEL
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5. Which among the following pair is rnot correct ?

Frfeied & & @91 g9 @& 78 8 ?

(1) Regression — Galton (2) Correlation coefficient — Pearson
e — ees qedsy T - fgEs

(3) ANOVA - Fisher (4) PCA — Gauss
AT — fReR qET - |

6. The checklist used to improve transparency in systematic reviews is :

ateed gHtemetl ¥ YRERr # Sea¥ sHM $ [T ST I el ShieRe §

(1) META (2) COHEART
WsdaC d el T g AR
(3) PRISMA (4) MAXIME
0 R 3T TH T T T U 0 AR T
7. The measurement scale with an absolute zero is :
FRO% 7 Al A ©
(1) Ratio Scale (2) Interval Scale
U Aq S AGH
(3) Ordinal Scale (4) Nominal Scale
EAECA L] SIERRCINE]
8. Among the following sampling methods, which one falls under the probability
method ?
Frifataa sicere el & & SF-a1 g9 Yy & oidia o & ?
(1) Judgement sampling (2) Quota sampling
frofar sifcrera PieT Sicrea
(3) Cluster sampling (4) Convenience sampling
T8 Hicrra gfaer siq=gs

9. The number of possible samples of size 2 out of a population with size 5 using
simple random sampling with replacement is :

TicRATqT & Y WA AGe8h iad H ST Fb BN 5 awl saer § 4
AMHR 2 & GO dwiiga dfaset & 9e ©

(1) 25 (2) 20 3) 10 4) 12
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10. The sampling method generally used for gathering information on rare events
1S :

g HEell W SMaN Uhsl &1 & [0 qmredn Sioeds fafy & ST fean

ST ©
(1) Simple random sampling (2) Stratified random sampling
A AGRESS icrera- HIHA Agess iread
(3) Snowball sampling (4) Systematic sampling
A (Fete) e e Hfcrer
11. Match the given study designs in Column-I with Column-II and choose correct
option :
-1 3 T sreee sl # @ -1 8 el oiR @af fased g ¢
Column-I Column-II
w9-I wWH-11
A. Cross-sectional (1) Data comes in future.
ShiE HFIT e Ao 7 fre 2
B. Case control (11))  Data comes at present.
39 Frord e aamm # e 2
C. Cohort (iii))  Data comes from past.
Preré S o @ Prd ¥
Code :
%e -
(1) A-Gi), B-(iii), C-(i) (2) A-(Gii), B-(i), C-(ii)
(3) A-(iii), B-(ii), C-(i) 4) A-(1), B-(ii), C-(ii)

12. What is full form of USB as used in computer related activities ?

g § G Tl § ST 8N g USB &1 I0f &9 1 8 7

(1) United Serial Bus (2) Ultra Security Bus
RS g s9 gl FRerier &9
(3) Universal Security Bus (4) Universal Serial Bus

g feriRd a9 Firada diRad s9
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13.

14.

15.

16.

17.

Which among the following can be used as post hoc test for means ?
Frefoied & @ &M wredl % fQ dree-gi% qee # I&TET §
(1) Run test
T aem
(2) One Sample t-test
T Sifcrest -gqterr
(3) Chi Square test for goodness of fit
TeY At fhe & [T 8 a7 qleor
(4) Independent t-test
@ -qET

Which among the following is a referencing software ?

fr=ifoiieg & @ BH9-91 T IBAT dieda] ® ?

(1) Canva (2) PubMED
e EELE]

(3) EndNote (4) Sci-Hub
Z=HIT IEREE|

Which among the following is not an example of plagiarism detection software ?

o & @ @ aiitlas A F1 9O TN a9 Sy B S e 7

(1) Mendeley (2) Drillbit
EEK| ERIEE

(3) Urkund (4) Turnitin
IGS fHifes

9

The principle of experimental design which helps in minimizing the bias is :

YRR Sfehed sl S AIRMRT & FAad #31 § Hag I 8

(1) Replication (2) Randomization
(3) Local Control (4) Replication and Randomization
e R TfcRpicT X AT (BHIBLT

The minimum number of levels in an experimental design should be :

U SR Siithed § &R &l gAad de el @y

(1) One (2) Two (3) Three (4) Zero
T% | de g
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18. Which of the following experimental design is preferred when one of the factors
needs more experiment material than the second factor ?

ST Rl Th HRE Bl GA BRE D Jol H HAUH TEN AR B SATEeTRA il
g, @ Frefafed & | 5 sEmee AT ® arafieear & S @ ?

(1) Latin Square Design (2) Lattice Design
ofest it aAfdEReg ofed aTfrened

(3) Split plot (4) Strip plot
fixte wife g wife

19. The type of ANOVA employed in analysis of Completely Randomized Design
1S :

Ol Fgfead AH & fsyer § vgE TR # TR ©

(1) One way (2) Two way without replication
THATH Sl & T I

(3) Two way with replication (4) Three way
Sicrpicl & | I RIEREED)

20. Which of the following is susceptible with research ethics ?
Frfaftad & & @ oTdaM Afoshar & S STfd-saeeia & ?
(1) Reporting of research findings
ey frenet @ Rafdn
(2) Inaccurate application of analysis techniques
EESEUEGERICIICIIRSERCR R
(3) Choice of sampling technique

P INEREEGNCRICACIRC RS

(4) Faulty research design

G N CRESIES]
RET/2023/664 (8)




21. In finalizing the thesis writing format which of the following would form part of
supplementary pages ?

i oee wrey H offod w9 a9 H FEfied § 8 s [ 79l @ e

I 7

(1) Appendices (2) List of tables and figures
Rfarse el SR SRSl @ g

(3) Table of contents (4) Conclusion of the study
ferera-g=it AT B Ry

22. The mean of the standard normal distribution is :

% T S & 7 © -

(1) Zero (2) One (3) Infinity (4) Fifty
A e I REI|
23. In Harvard style of referencing for a book, which among the following comes in
the last ?
el g &1 Bds Aol § Halid B & U Friarad § § diF-a1 o | o
g7
(1) Book title (2) Year of Publication
J&is EEANE I NG
(3) Place of Publication (4) Publisher
IS bl T HhIRTh

24. Which of the following educational program is rnot govern by IGNOU ?
Frt & & di-a1 A’ FRET IGNOU ERT Heier 787 © ¢
(1) Gyan Darshan (2) Gyanvani (3) Swayam (4) e-Kosh
S &9iF EIREIR] LR ECOL]

-

25. The word research is derived from the French word :

Red o=, %9 9= 9 I ® ¢
(1) Recherche (2) Reserch (3) Ricirch (4) Resorce
= Red Rfe= R
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26. Which among the following is an example of open-source data analysis

software ?
Frfoied & & SF-A1 STT-8rd TS fAsueT iredsr # 6 &I & 7
(1) SPSS (2) JASP
THo Gio 0o THo @[o To TYHo Jio
(3) Graphpad Prism (4) SAS
TR B THo To THo

27. What are the conditions in which Type-II error occurs ?

J P-6 Rafeal ¥ B egw-1 e I A R ?

(1) The null hypothesis gets accepted even if it is false.
I UREH FEI BN W Wi & Sl 8|

(2) The null hypothesis gets rejected even if it is true.
I INEHCTAT T B W Al ST & SRl o

(3) Both the null hypothesis as well as alternative hypothesis are rejected.
A TREHTT AR IBiedehs TR a1 STEHR &l ST &l

(4) The null hypothesis gets accepted even if it is true.

I IR FF BN W ot ©igd & Ikl 8|

28. Following are some steps used in research. Choose the appropriate sequence of
steps in completion of research work :

Mg 7 ITER Y W ad B RO MR o 9" B B QA B B Y

T T IR B G
(1) Literature survey (i1) Developing hypothesis
e e IR &l b HE
(ii1) Preparation of research design (iv) Sampling plan
STTEEN AR JIR HTAT Hfcreet FISH
(v) Hypothesis testing
QRepTTT TETT
(1) @), (i), v), (i), (v) (2) (@), (v), (D), (i), (v)
(3) (@), (1), (iid), (iv), (V) (4 @), av), (i), (i), (v)

RET/2023/664 (10)



29. When the person lifts material that they have previously published and passes it
off as their own new work is known as :

S g Al AT UEW A TR Bl T AEH Bl AW ¢ SR T4 AW T B
% T H TR BYA &, A 36 Fel ol © ¢
(1) Mosaic Plagiarism
LIS HREACIR
(2) Accidental Plagiarism
A Hieicash =
(3) Self-Plagiarism
w-Hiigieas =R
(4) Minimal Plagiarism
gaH deiasw =K

30. Match the Column-I with Column-II and choose correct option :

-1 & & -1 3§ e ok el T T

Column-I Column-II
w¥-1 wH-11
A. Explanatory research (i) Understanding causes and consequences of
D AT phenomenon
AT & RO AR IR B G
B. Descriptive research (ii) Discover new phenomenon
CHEIGERE B CRIE 3 g B Gl
C. Exploratory research (iii) Describing existing phenomenon
ol STEEN AT g & oA
Code :

%< -
(1) A-(ii), B-(iii), C-(i)
(2) A-(i), B-(iii), C-(ii)
(3) A-(ii), B-(i), C-(iii)
@) A-(iii), B-(ii), C-()
RET/2023/664 (11) P.T.O.



31. Which of the following is rot an appropriate tool for data analysis ?

Fr=ifatad & | @F-a1 S fas o & Y Suge Sueel 787 & 7

(i) SPSS (i1) MS-Excel
THo Glo THo TH THOoTHo-TFI
(iii) R (iv) Python
3T ISR
(v) Windows
EES
Code :
&< -
(1) Only (i1) (2) (ii) and (iii) (3) (i1) and (iv) (4) Only (v)
Fad (i) (ii) X (iii) (ii) T (iv) Fad (V)

32. In an experiment conducted on goats, the following were measured on each
animal in the study : Sex, weight (in kg) and birth order. The scale of
measurement of these variables are :

THRAN W T T Tk TR H, AT § Td® SHak W T S A T
o, aom (Reamo &) ofR &1 71 &9 =)t & Ao # Sge AR ©

(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio
I, ST, hiveh shitieh, YU, T

(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal
ShiHeh, YU, ST e, e, shideh

33. Which among the following is not an example of primary data ?
frfofad & @ HI9-91 Mo he H & 78 B 7
(1) Data collected through surveys
TG & AT A ThO A
(2) Data collected through interviews
TR & W & THBA ofihs
(3) Data collected from experiments
TR & THEA s
(4) Data collected from national census reports

T ST e @ THid offhe
RET/2023/664 (12)




34.

35.

36.

37.

38.

Kurtosis of a standard normal distribution is :

T A TR R el ©

(1) Zero (2) Three (3) Two (4) One
S| a | T%

A subset that is chosen from population is known as :

U ITH=d T8 @& e § § gAT Sl 6, Fedn ©

(1) Parameter (2) Variable (3) Sample (4) Statistic
BIEK W sfcrest st

Which of the following is mot applied in research involving qualitative
variables ?
Frfafad & & &9 oo o &1 (ied &3 ar ofee™ § g 787 orl © ¢
(1) Proportion (2) Diagram (3) Odds ratio (4) Mean

SRRIRI ARG ELLEERNI] oreg

Read the following statements and choose frue statement(s) :
Fr=Afcifad eel & 98 R &g F9 I
(a) Independent variables are unknown variables.
SRERCIECE | L]
(b) Dependent variables are unknown variables.
T =X S =R 2
(c) Research decisions are made on dependent variables.

FIEEN ol o =k W fe o 2

Code :

%c -

(1) Only (a) (2) (a) and (b) (3) (b) and (c) (4) (a) and (¢)
% (a) (a) 3 (b) (b) ¥R (¢) (a) 3R (c)

The sampling method in which after random start, every 'kth' individual is
selecting from the population list is known as :

T% RS ARH & WA See gl B 90% kAl AR B Fag $ ar
gforee fafy ®

(1) Simple random sampling (2) Systematic sampling
I A58 =g B EC-AIRESRE|

(3) Stratified sampling (4) Cluster sampling
SREAIIRERE TS

RET/2023/664 (13) P.T.O.



39. In stratified random sampling, how the strata within the population are decided ?

WP ABEBH Ferad § Saed & & & MO $4 6 S 8 ?
(1) Randomly

I5fes 9 4

(2) Based on specific characteristics of population
SEE % fafire faQe W s

(3) Using a pre-defined pattern
qa-FeiRa Yo @ @M

(4) Using geographical proximity

A THUar & SR )

40. A longitudinal research design is :

T oTgeE SHYN ST B

(1) Studying multiple groups simultaneously
S YS! & THRICD AT

(2) Collecting data at a single point in time
TH & F W SAHS! H e

(3) Observing participants over an extended period of time
Teh fO&NT SHAEY e STl &1 Ser

(4) Analyzing historical data

Ui Siihel &1 fasAwor e

41. Which research design investigates the cause and effect relationship between
variables ?

BT STHIM SI¥EHeT o & S THIG-BROT T P S Hl © 7
(1) Descriptive design
EREIGERC I BE
(2) Correlational design
BESERCIC G RCTS)
(3) Experimental design
TARTICAS AT
(4) Case-study design
-G AR

RET/2023/664 (14)



42. Which of the following is not a primary purpose of a literature review in research ?
F=1 4 @ 2F qifee |vien & J&1 352 787 © 7
(1) To summarize the researcher's findings
Nehaial & Tl 1 fRraiieBior
(2) To provide a historical background of the topic
faeg 1 TcETieen TSy YE ST
(3) To identify gaps and justify the need for the study
I Bl TEaM BT SR STHAT Pl SAEATHAT Bl ST S8
(4) To present statistical analysis of the data
w1 AiRerbrd fAsweT & HEN
43. Which statistical measure describes the central tendency of a data set ?
BIF-T HiRkeEH A9 STbSt & TY=ad H d= FIRT H a0 HAT & 7
(1) Standard Deviation (2) Range (3) Mean (4) Variance
CISCACERT| EIES oreg TE

44. What does a p-value in statistical analysis indicate ?
gikere fasaser ¥ p-A & RT & 7 ?
(1) The size of the data set
SAHet B T B STEHR
(2) The probability of obtaining results by chance under null hypothesis
T UREHCYAT & SR TSl bl ATHRAS ©Y H U B ol FATE
(3) The mean of the data set
HAhet B T H AH
(4) The variance within the data set
HHEt B T B T

45. What does the term 'outlier' refer to in data analysis ?
Hiwel & fagawer § ‘afevey wew o= & ;& ol B 7
(1) A data point that lies within the expected range
TH el fog o orifeRy & F i ©
(2) A data point that does not fit the overall pattern of the data
T el fg S St & T Vet & fhe 7@t i ®
3) The average value of a data set
HTHeT T F AEd W
4) The data point that lies between the first and third quartile

el aYed § Ted R TR Tge® & 99 B AN
RET/2023/664 (15) P.T.O.




Instructions (Q. No. 46 & 47 ) : Review the monthly website traffic data for site xyz in
the year 2023 provided in the data below. Choose the correct answer for each question
given below :

35T (Fo o 46 @& T 47) : FYA #F [T T ¥ 2023 7 GET xyz % TF 0T
I SHIHS] F THE F AR RY T g% 997 % g e} G g7 -

46.

47.

Monthly Website Traffic data for the Site xyz (Year-2023)
Xyz EE & o0 miftes deemge AaEe siwer (a¥-2023)

Month Visitors

LEE | A
January / S9a 3,50,000
February / &3a{l 3,80,000
March /HrE 3,00,000
April / 3q 4,20,000
May / 7§ 4,00,000
June / 9 4,50,000
July / ST 4,30,000
August / 3TT¥ 4.,70,000
September / =R 3,80,000
October / 3FgEX 4,10,000
November / JdHT 4,80,000
December / @Y 5,00,000

The average monthly visitors (rounded) for site xyz in 2023 is :

d%e xyz & ¢ G 2023 ¥ A ofed a9t (ToTied) e &
(1) 414165 (2) 414167 (3) 414168 (4) 414160

What was the percentage (rounded to zero) decrease in visitors from April to
May ?

BT q 7 T, &l A WO (Y W qIifha) & e @
(1) 8% 2) 5% (3) 10% 4) 15%

RET/2023/664 (16)



48. The pie diagram given below, shows monthly expenditure of the two families A
and B on various items along with raw data of expenditure as mentioned in the
legend. What will be the ratios of radii of circle A to B in constructing the pie
diagram ?

e T O oM@, FE F T iwe d iy Al A& W A wRErt A o
B & Wik &G & AT 81 UB oM@ & AT § 39 A § B &l Bt @&

U T BR 7
() 9:10 (2) 100 : 81 3) 10:9 4 1:1
Family A Family B
TRar A ; qfEr B
| [ Food $iST=T
U Food #HIST=T (%. 2700)
(%, 3500)
OCloth F9g
O cloth m {%. 800)
(%. 500)
fafay | 0 Rent fagr
Rent Rerar (% 1000)
20% (2. 1500) | 22.22% )
| Education : Education O Education fRre
| R / / ) Education f21&T | Ryar (¥.1800)
4 1% 2000 ‘
| Rent . ) OMisc. fafaer
| | 5% O misc. fafaer 1 9.88% (%.1800)
| Cloth| (%. 2500) % Cloth
Eﬂ?] | ‘ $‘=I?

Instructions (Q. No. 49 & 50) : Review the given figure which shows the manufactured
vehicles by two companies A and B during the year 2015 to 2020. Choose the correct
answer for each question given below :

35T (Fo o 49 oy 50) : FIA 9 Ru ™ #E M a¥ 2015 & 2020 & IR a
FUE A X B & M arest # g €, B e i e Y ™ 9@ g9 3
fe @&l SR g

Number of Vehicles Manufactured by Companies
A and B during 2015 to 2020

400

250 335 336 337
o | mmmm g iy
233 234 235
250 205 206 207
No. of Vehicles 200 ./‘\N
Manufactured —g— Automobile Company A
230 - dl= Automobile Company B
100
50
[o] T T T T T \
2015 2016 2017 2018 2019 2020
Year
RET/2023/664 (17) P.T.O.



2015 § 2020 3 3 HFT A X B &

¥ arest & d@en
400
350 335 336 337
31— St 31—
RSP S LY.
233 234 235
250 %2i__——ﬂ‘-.__3:2_,——4‘-._‘::;___——‘
fffa aet @t @ 200 N A
150 —E- g 5 B
100
50 ’
0

2015 2016 2017 2018 2018 2020

¥

49. Difference between the average vehicles manufactured by the companies during
the year 2015 to 2020 is :
g4 2015 & 2020 % SRM FURE &0 WG awel & ofed w1 o B
(1) 205.5 (2) 105.0
(3) 103.5 4) 107.5

50. If Gy and G, denote growth rates of Companies A and B from 2015 to 2020
respectively, then which of the following is true ?

AR Gy 3R G, FAM: 2015 | 2020 T FAEE A R B & IRg W A 9w 2,
a1 frifaed & & P9-a1 FF 8 7

(1) G,>G, ) G,<G,
3) G,>G, 4) G,<G,

RET/2023/664 (18)



Urology Code No : 664

51. Which of the following is NOT considered a sex accessory tissue ?
(1) Prostate gland
(2) Seminal vesicles
(3) Tunica albuginea

(4) Ampullae

52. What is the source of fructose in seminal plasma ?
(1) Prostate gland
(2) Bulbourethral gland
(3) Vas deferens

(4) Seminal vesicles

53. After starting finasteride, serum PSA should .............. and the percentage of free
PSA should .............. .

(1) increase, not change
(2) increase, increase
(3) decrease, not change

(4) decrease, decrease

54. Carbonic anhydrase inhibitors are associated with formation of stones composed of :
(1) calcium oxalate.
(2) calcium phosphate.
(3) Struvite

(4) Cystine
RET/2023/664 (19) P.T.O.



55. The male urethrais.............. cm long.
(1) 15 2) 13

(3) 24 4) 20

56. Terminal hematuria (at the end of the urinary stream) is usually due to :
(1) bladder neck or prostatic inflammation.
(2) bladder cancer.
(3) kidney stones.

(4) bladder calculi.

57. The most likely cause of continuous incontinence (loss of urine at all times and in all
positions) is :

(1) enterovesical fistula.
(2) noncompliant bladder.
(3) detrusor hyperreflexia.

(4) vesicovaginal fistula.

58. Which of the following is most likely to demonstrate an infiltrative growth pattern ?
(1) Clear cell RCC
(2) Sarcomatoid variants of RCC
(3) Papillary RCC

(4) Chromophobe RCC

RET/2023/664 (20)



59. The correct order of the division of the intrarenal branches of the renal artery is :
(1) segmental, arcuate, interlobar (infundibular), interlobular
(2) segmental, arcuate, interlobular, interlobar (infundibular).
(3) segmental, interlobar (infundibular), arcuate, interlobular.

(4) interlobular, segmental, interlobar (infundibular), arcuate.

60. Which of the following is an absolute contraindication to .............. percutaneous
nephrolithotomy (PNL) ?

(1) Morbid obesity
(2) Uncorrected coagulopathy
(3) Neurogenic bladder
(4) Pelvic kidney
61. Which fetal hormone stimulates the development of the wolffian ducts ?
(1) Estradiol
(2) Dihydrotestosterone (DHT)
(3) Estrone

(4) Testosterone
62. Glucose will be detected in the urine when the serum level is above :
(1) 75 mg/dL.
(2) 100 mg/dL.
(3) 150 mg/dL.

(4) 180 mg/dL.
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63. Hematuria is distinguished from heoglobinuria or myoglobinuria by :
(1) dipstick testing.
(2) the simultaneous presence of significant leukocytes.
(3) microscopic presence of erythrocytes.

(4) examination of serum.

64. What signal characteristics do kidney stones exhibit on MR urography ?
(1) High signal on T2-weighted images
(2) Low signal on T2-weighted images
(3) Signal void

(4) High signal on T 1-weighted images
65. The best frequency for performing external renal ultrasound in most adults is :

(1) 3.5to 5 MHz

(2) 6to7 MHz

(3) 7.5t08.4 MHz

(4) 8.5t09.9 MHz

66. Which radiotracer is ideally suited for imaging renal scaring ?
(1) 99mTc-DTPA
(2) 99mTc-MAG3
(3) 99mTc-DMSA

(4) 67Ga-citrate
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67. Which radiotracer has the highest specificity for imaging prostate cancer ?
(1) 18F-DCFPyL
(2) 67Ga-citrate
(3) 11C-Choline
(4) 18F-FDG
68. The metabolite of oxazaphosphorine chemotherapeutic agents which is responsible for
hemorrhagic cystitis is :
(1) Mesna. (2) Acrolein.

(3) Formalin. (4) Gemcitabine.
69. In female embryos, the remnants of the mesonephric ducts persist as the following
structures EXCEPT :
(1) epoophoron.
(2) paroophoron.
(3) hymen.
(4) Gartner duct cyst
70. Which of the following substances acts as a promoter of calcium oxalate stone
formation ?
(1) Matrix-Gla protein
(2) Citrate
(3) Pyrophosphate
(4) Uric acid

71. What percentage of undescended testes are nonpalpable at presentation ?
(1) 1% 2) 3%
(3) 10% 4) 20%
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72. The most common bacterial cause of xanthogranulomatous pyelonephritis is :
(1) E.coli.
(2) Pseudomonas.
(3) Klebsiella

(4) Proteus mirabilis.

73. The most abundant product of the adrenal cortex is :
(1) mineralocorticoids.
(2) glucocorticoids.
(3) adrenal androgens.

(4) catecholamines.

74. The most common genetic cause of male infertility is :
(1) 1Y) (2) 45,X0

(3) 47, XXY 4) 47, XYY

75. The no-scalpel technique for vasectomy reduces the rate of :
(1) hematoma.
(2) vasectomy failures.
(3) recanalization.

(4) injury to testicular artery.

76. Type 1 (distal) RTA is characterized by which abnormality ?
(1) Hyperkalemia
(2) Hypochloremia
(3) Alkalosis
(4) Hypokalemia
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77. What is the most common cause of cloudy urine ?
(1) Bacterial cystitis
(2) Urine overgrowth with yeast
(3) Phosphaturia

(4) Alkaline urine

78. The preferred single agent for medical expulsive therapy for distal ureteral calculi is :
(1) nifedipine
(2) tamsulosin
(3) Solu-Medrol

(4) ibuprofen

79. Of the following types of validity, which one often takes many years of instrument use
by numerous investigators to adequately assess ?

(1) Face validity
(2) Content validity
(3) Concurrent validity

(4) Construct validity

80. 16-Fr catheter is approximately .............. cm in outer diameter.
(1) 16 (2) 10.4
(3) 8.7 “4) 53
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81. At what gestational time point does the metanephros development begin ?
(1) 2 weeks (2) 3 weeks

(3) 4 weeks (4) 5 weeks

82. Which of the following structures in the male reproductive tract develops from the
urogenital sinus ?

(1) Vas deferens
(2) Testis
(3) Prostate

(4) Appendix epididymis

83. A voiding cystourethrogram (VCUG) is essential in the diagnosis of which clinical
condition ?

(1) Ureteropelvic junction obstruction
(2) Primary obstructive megaureter
(3) Posterior urethral valves

(4) Nephrolithiasis

84. The most frequent renal fusion anomaly is :
(1) pancake kidney.
(2) crossed fused renal ectopia.
(3) horseshoe kidney.

(4) disc kidney
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85. Which of the following matches is correct ?
(1) ARPKD and chromosome 2
(2) ADPKD and chromosomes 4 and 16
(3) Tuberous sclerosis and chromosomes 9 and 15

(4) von Hippel-Lindau disease and chromosome 4

86. Which of the following does not play a direct role in testicular descent ?
(1) Testis (2) Epididymis

(3) Genitofemoral nerve (4) Gubernaculum

87. Urogenital sinus anomalies in differences of sexual development states are most
commonly seen in association with :

(1) congenital adrenal hyperplasia.
(2) mixed gonadal dysgenesis.
(3) ovotesticular disorder.

(4) cloacal anomalies.
88. The WAGR (Wilms tumor, Anirida, Genitourinary anomalies, mental Retardation)
syndrome is most frequently associated with :
(1) deletion of chromosome 15.
(2) advanced stage Wilms tumor.
(3) neonatal presentation of Wilms tumor

(4) renal insufficiency
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89. Urine osmolality usually varies between :
(1) 10 and 200 mOsm/L.
(2) 50 and 500 mOsm/L.
(3) 50 abd 1200 mOsm/L.

(4) 100 and 1000 mOsm/L.

90. The number of bacteria per high-power microscopic field that corresponds to colony

counts of 100,000/mL is :
1 1 2) 3
3 5 @) 10

91. Which urologic malignancy is poorly imaged with 18F-FDG positron emission
tomography (PET) ?

(1) Bladder cancer
(2) Penile cancer
(3) Prostate cancer
(4) Renal cell carcinoma
92. The incidence of bladder cancer in spinal cord patients with chronic catheters
1S i .
(1) 1% 2) 2%

(3) 3% 4) 4%

93. Changes in renal tubular function during pregnancy result in alterations of urine

chemistries EXCEPT for :
(1) glycosuria. (2) proteinuria.
(3) pyuria (4) albuminuria.
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94. The fetal kidneys develop from which of the following embryonic structures ?
(1) Paraxial (somite) mesoderm
(2) Intermediate mesoderm

(3) Neural tube

(4) Lateral mesoderm

95. What is the minimal normal stretched penile length of a fullterm neonate ?
(1) 1.2cm (2) 1.9cm

(3) 2.5cm 4) 3.2cm

96. The tuberous selerosis complex is associated with the development of angiomyolipoma
and cystic renal disease. These patients have been found to have an abnormality of

chromosome :
(1 2) 7
3) 9 @ 12

97. What type of genitourinary (GU) cancer is not increased in frequency in patients with
HIV ?

(1) Prostate cancer
(2) Kidney cancer
(3) Penile cancer
(4) Testis cancer
98. The sperm region containing mitochondria is the :
(1) tail. (2) head.

(3) acrosome. (4) midpiece.
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99. The most important inhibitory neurotransmitter in the central neurochemical control of
ejaculation is :

(1) dopamine (2) serotonin

(3) noradrenalin (4) oxytocin

100. What is the major function of the muscles innervated by the obturator nerve ?
(1) Hip adduction
(2) Hip abduction
(3) Hip flexion

(4) Hip extension
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